Year 7 – Autumn Term
Primes, HCF and LCM Extension Booklet

	Instructions:
· Answer the questions and solve the problems in your exercise book.
· Please do not write in this booklet.
· You will have to think hard for most of these.



This booklet includes questions on:
· Factors
· Multiples
· Prime numbers
· Prime factorisation
· Highest common factors
· Lowest common multiples

Question 1
Write down a number that can go in each part of the Venn diagram.
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Source: MathsVenns.com
Question 2
Think carefully about these questions.
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Source: Don Steward’s Median



Question 3
What can you work out from the information given below?
[image: ]
Source: Goal Free Problems

Question 4
M(15) means the number must be a multiple of 15 i.e. 15 or 30 or 45 or 60 or 75 or 90. Find four digits (all different) to go in each of the boxes to make 2-digit multiples of the required number when you read across and down:[image: ]
Source: Don Steward’s Median





Question 5
What comes next?
Hint: consider prime factors…
[image: ]
Source: MathsBot

Question 6
Complete these to show the various prime factorisations of 90:
[image: ]
Source: Don Steward’s Median



Question 7
Write down a number that can go in each part of the Venn diagram.
[image: ]
Source: MathsVenns.com

Question 8
[image: ]
Source: Don Steward’s Median
Question 9
Complete the remaining boxes trying to make the minimal change possible.
[image: ]
Source: More-Same-Less.co.uk
image3.emf
Jan writes down :        one multiple of 9      two different factors of 40     Jan adds her three numbers together.   Work out what you can from this information.  
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